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Az N 1,448 688 711 737
RN AN 1,813 836 868 945
BN A AN 846 418 414 432
P AR B A 215 94 106 109
JBF A 1,149 492 554 595
A A 1,055 454 509 546
i)l A 833 377 402 431
K A 791 398 365 426
R B A 510 213 253 257
/NEF Gaikici 551 253 274 277
s oy 1,072 419 517 555
T4 1 oy 861 390 422 439
TS Rg i oy 531 226 252 279
sl P oy 516 259 227 289
T3 L i oy 1,142 487 553 589
T3 ok oy 2,011 886 941 1,070
R oy 247 108 124 123
FsEH —TH Fo3d 464 170 225 239
%0 —TH Foid 482 176 247 235
%0 =TH Foid 476 163 253 223
#H—TH /NP 602 290 279 323
#H - TH /NP 765 356 361 404
WE—TH /NP 536 225 242 294
WE =T H /NP 559 270 252 307
AKH—TH /NP 856 413 399 457
AKHZTH /NP 973 466 457 516
I T )l 39 19 20 19
EJIIAF pny =) 18 12 8 10
)T )l 31 16 13 18
E)IThkmy )l 37 22 16 21
B[] SR T I 14 8 9 5
&) 1Hg/ ARRT =)l 29 18 11 18
EJIEJFnT il 25 12 12 13
&) w7 = 30 20 19 11
(ST EHIAT [CikavA 181 80 84 97
{7 N T (T 227 94 113 114
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[ oL LT L 58 25 29 29
575 A HT s 104 51 47 57
GHEST FAEHIET (Cik YA 291 171 165 126
(A LR LEHT [EAR YA 419 187 206 213
{9+ 37 T s 128 57 57 71
{5475 32 T HERENT s 433 228 217 216
P+ ST g7 145 71 65 80
LWEEDK (Cik YA 813 252 409 404
JUBFI) Y oy 104 50 51 53
ELEFSE T =P 28 12 12 16
B 1 R B 197 66 87 110
ai—T1H B 1,377 597 665 712
g% TH B 1,174 525 564 610
EE = T H ooy 68 31 35 33
a0 H B 364 168 183 181
%A H B 2,009 861 968 1,041
B XTH B 960 334 464 496
BIpE—TH By 440 197 205 235
VOB — T ooy 14 7 4 10
VOB = T ooy 74 65 18 56
B KEF—TH By 647 290 331 316
AR T H ooy 17 7 9 g
BIZL B 418 185 195 223
ESal] Bk 998 624 499 499
AE AT B 556 255 246 310
18 AT =il 1,048 456 506 542
(AL Bk 773 352 363 410
Izl Bk 1,023 453 489 534
FRHT Bk 1,242 537 597 645
EXH—T H 2 2,160 893 1,085 1,075
HETTH FXH 92 75 63 29
AKEH—TH FX 1,187 558 568 619
AREEH T H EX 1,166 502 567 599
AKEH=TH EX 1,917 741 713 804
AEHMNTH EX 2,234 1,046 1,081 1,153
AEHATH X 1,022 506 477 545
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AEHANT H B ] 2,345 919 1,145 1,200
KN—TH B ] 1,161 540 588 573
KN _TH B 34 22 19 15
&) =TH B2 376 186 188 188
AEE—TH B 591 244 288 303
LEH _TH B2 2,819 1,367 1,387 1,432
AEM=TH B2 577 281 295 282
A= TH BN 763 333 361 402
MA=TH A 166 68 88 78
AM T B A 350 145 174 176
AT H AR 276 110 130 146
IAART B A 333 138 161 172
mAETH AR 64 26 35 29
AROE—TH MARDHE 742 328 369 373
MAROEZTH MARDHE 549 232 259 290
AROE=TH MADHE 411 185 205 206
MAPEMNTH MARDHE 1,204 472 579 625
MADCEKRTH PADE 347 144 165 182
MIARDEATH AR 605 269 289 316
MADHEETH ADH 699 281 340 359
KJ—TH AR D B 5 416 153 198 218
KN _TH AR D B 1,045 450 495 550
MADOHEKE—-TH AR D B 5 1,037 366 525 512
MAOHEHE —TH A B 963 322 467 496
MADOHEKF=TH AR D B 5 246 106 121 125
MAOHEEINTH AR D B 18 18 6 12
MADOEKFHTH [ NPEY 707 292 343 364
MADEFATH AR D BB 482 208 240 242
MADCEKETH AR D BB 972 395 464 508
MADOHEFNTH [ NPEY 711 308 353 358
HEZE=TH IAD B3 244 85 132 112
HEEIL—TH AR D BB 322 124 144 178
HEEEIE T H NP 1,506 582 752 754
KEZE—TH HEZE 351 173 167 184
HEEE T H TEEE 400 193 196 204
HE=TH L 842 346 398 444
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WEE T B e 280 106 138 142
HZEHTH == 895 390 435 460
HEZOSTH HE=E 1,412 663 646 766
ez —T 8 HE=E 512 221 248 264
HEZEAL 1 B i 15 i1 g 7
TH—TH A 244 109 113 131
TH - TH i 47 30 27 20
TH=TH i 56 26 26 30
mE—TH A 211 101 112 99
mE_TH HE=E 941 520 463 478
wmE=TH HE=E 55 45 38 17
HEG—TH =) 939 439 438 501

HHEZTH =) 900 419 421 479

=T H i 982 454 463 519
HESBWTHE =& 831 403 386 445
SUAANT ik 13 12 g 5
BA—TH PR 1,118 495 529 589
WA_TH PA 1,353 581 625 728
WA=TH PA 2,935 1,228 1,357 1,578
WAMTH PA 505 242 251 254
WAHTH PR 615 340 289 326
WAIKRTH PR 1,487 735 725 762
WAELTH PA 1,763 844 863 900
WANTH PA 779 390 361 418
ADLHT ThA 890 424 423 467
FhA—TH ThA 1,341 578 681 660
THRAZTH T BRA 1,164 447 589 575
THRA=TH TRA 1,714 609 842 872
FHAN T H ThA 824 365 304 430
FHALTH ThA 1377 555 691 686
TRAARTH T BRA 2,164 879 1,033 1,131
thaE—TH T BRA 1,281 535 651 630
tegt —TH TRA 767 392 359 408
WAs—TH FE I 108 67 40 68
fER—TH FE IR 1,677 783 807 870
fE T H R 909 421 419 490
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fEiR =T H JE I 1,081 565 470 611
FEIRTDY T H FE IR 825 354 406 419
YRAEIT JEIRF 783 320 372 411
ANK—TH FE IR 568 270 280 288
AKX _TH JEIRF 751 366 360 391
AK=ZTH JEIRF 353 166 173 180
THRA—TH JEIRF 329 122 162 167
WEE—TH JEIRF 867 407 399 468
WEE T TH JEIRF 705 322 338 367
WEE-TH FE IR 531 252 262 269
BT H FE Wy 1,057 413 515 542
AAt—TH FE Wy 718 327 334 384
AT H JE I 892 390 391 501
BJI—TH JEIRF 111 82 56 55
Il TH FE Wy 959 456 464 495
BJI=TH JE IR} 859 440 415 444
M T H JE I 632 254 309 323
bRl I 1,044 447 495 549
AT I 825 447 408 417
BRE—TH Ay 1,197 640 569 628
PSR —T H Ay 871 450 386 485
BAEFET T H Ay 1,620 726 752 868
#hfk— T H Ay 909 4717 451 458
T H Ay 663 331 327 336
k=T H A 731 352 349 382
N/ oy 434 197 196 238
W73k oy 1,292 626 606 686
Hepger T oy 246 129 106 140
MEE-TH W 671 312 330 341
MEETH Py 603 290 290 313
MEE=TH oy 1,002 440 444 558
EBEMNTH W 790 342 399 391
R RbHT g 528 246 243 285
H—TH R 122 74 61 61
#B¥—TH iy 631 241 322 309
T H P 833 373 401 432
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#—TH iR 852 351 411 441
BIN—TH i 856 377 424 432
Bin\ut oo 785 383 369 416
ST i 9 5 4 5
P 14 LT B E X X X X
R L BT B 872 378 407 465
THE oo 271 128 137 134
LN 1 R A 119 59 54 65
HWAE—T H 1 R A 719 335 323 396
WA T H 1 R A 934 428 445 489
LA =T H L1 H AR 953 462 479 474
RARHT 2 362 194 168 194
R R 625 330 317 308
i 2. BT 3 716 398 357 359
e R 1,025 481 500 525
KA BT 3 838 400 412 426
BAR—TH R 578 319 284 294
BAZTH T2 882 420 423 459
BYAE T H R% 2,902 1,295 1,336 1,566
EFPE=TH R% 408 214 176 232
PNl B R% 594 312 293 301
[ < T R% 37 19 17 20
L Ly R% 900 400 444 456
BES R 405 202 194 211
b R% 854 402 419 435
JE DI % 2,090 1,020 966 1,124
BT R 116 77 81 35
HERHZTH R% 155 90 72 83
HEARH=TH R% 1,184 559 551 633
IR T R% 222 139 94 128
FE%—TH 5% 195 86 87 108
E%TH R% 829 508 360 469
BE%=TH R% 547 317 267 280
NSl R% 268 131 124 144
= SERT R% 662 316 291 37
et HH PRI o 31 29 8 23
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(%fu4$3ﬂm%ﬁ EXCYNED) B2 T an 5, e
fEtk—T H I 497 209 246 251
bk — T H I 68 39 30 38
EN) W 305 141 141 164
A HHT W 1,040 466 450 590
==Y W 513 309 239 274
ER—TH W 877 448 410 467
ER T H W 385 199 171 214
FLoit W 122 68 52 70
HEPB W 219 103 105 114
HHAE—TH W 1,968 873 920 1,048
FIHAE T H W 643 290 298 345
AE—TH W 49 23 23 26
AH TH W 1,766 870 855 911
BERH T H ok 7 5 3 4
EREM T H GiES 738 343 350 388
HR—TH ok 925 494 449 476
T H ok 679 350 329 350
PR =TH gk 625 317 270 355
gy T A g 1,791 764 864 927
HE—TH g 576 273 264 312
HETTH g 326 154 151 175
AT =T H g 182 127 84 98
N g 209 111 107 102
BOH gk 398 233 198 200
I g 158 80 72 86
ERHE—T H gk 88 70 44 44
WAZTH GAPAS 26 11 10 16
A= _TH R g 843 383 395 448
PO T2y 1,032 467 475 557
5% —TH R g 400 185 198 202
E%_TH T2y 583 258 281 302
% =TH 27 1,151 527 528 623
foH T 722 296 324 398
% F-# 666 290 315 351
mAR—T H F-# 184 94 84 100
WAZTH P 661 285 306 355
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It SEEP 1,543 690 697 846
BN SEEF 2,149 972 994 1,155
IZBDE—TH SEEP 666 290 310 356
B TH SEEP 2,528 1,176 1,144 1,384
B =TH SEEP 1,815 743 883 932
WZBOEMNT H SEEP 1,381 528 668 713
A9 SEEP 879 380 430 449
oo H SEEP 1,607 535 803 804
THOE T 165 91 79 86
AR THT &P 1,041 542 493 548
AT Bt 387 207 186 201
FRARHT HEPT 119 57 59 60
WEpi— T H HEPT 1,120 521 522 598
BEpr—TH HEPT 427 217 203 224
HDNHT HEPT 1,042 546 508 534
ASLHT HEPT 1,424 910 607 817
FE—TH HEPT 1,806 833 840 966
FEZTH HEPT 1,115 508 549 566
T REPT 848 457 387 461
2L REPT 1,148 513 563 585
PE—TH REFT 783 359 358 425
BR—TH REPT 964 274 271 293
BR=TH HEPT 751 315 346 405
T BET 1,085 867 970 1,015
ISR REPT 515 229 251 264
i pT it/ T JEHT 34 17 18 16
EE_TH REPT 199 111 101 98
ISR [EEs7) 2,125 882 1,074 1,051
BERA [EEs7) 3,337 1,426 1,606 1,731
T FT T s 40 20 19 21
L EEN 1,554 714 770 784
EHEL_=TH EEs) 1,217 480 689 528
ESl5L) EEs7) 212 83 107 105
IERE=TH RN 653 287 304 349
AT T 943 500 456 487
SEEEMT B0 825 416 383 442
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=<3y g 1,264 618 589 675
) 1T & 932 422 425 507
FERGHT I 2,364 1,056 1,138 1,226
EXE—TH i 679 376 345 334
X " TH i 1,021 471 528 493
FHIHT i 911 450 412 499
S FEHT i &L 219 116 100 119
L — T A WL 40 40 26 14
HiE— 1 H i 385 223 201 184
HiE_ 1 H i 143 60 72 71
A i = 1,208 551 574 634
E45—TH i 4,206 1,817 2,017 2,189
E4s —TH T i 2,012 865 983 1,029
IEXRE=TH 5 559 259 279 280
Ly il 23 15 11 12
T il X X X X
KF—TH A1 1,404 743 664 740
KFEZTH A1 2,176 1,180 1,052 1,124
ALFE—TH il 68 30 30 38
HISF_TH A 1,056 456 496 560
HILUF=TH Al 1,102 480 511 591
ALSFIU T H A 731 297 374 357
AIFEALTH il 556 251 279 277
FEE—TH A 1,750 807 837 913
FEHETTH A 1,279 601 600 679
JREMT PR 1,102 497 534 568
A 1L TRT PR 85 80 42 43
LA A 4 3 3 1
Py A 26 12 12 14
LIS A 61 30 30 31
TH—TH A 1,537 647 735 802
THZTH i 820 358 379 441
FHT=TH A 137 62 64 73
AT H A 22 13 9 13
RS LT A 540 162 265 275
M — T H A 856 420 4114 442
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M _TH 2/ 1,709 755 808 901
A= T H o 116 60 43 73
FEARI T B /i 1,257 538 603 654
AT H /i 1,098 474 534 564
FMST H /i 185 92 82 103
A AT ;oA 6 6 5 1
AN AT i X X X X
JAr T H i 9 5 4 5
KABEKR _TH KA 78 31 1 37
FAT =T H i 5 4 3 2
KA AT H i 15 6 9 6
KA/NMHE—TH KA 70 36 33 37
KA/NMHRE T H KA 32 14 19 13
ST — T H KA 72 32 35 37
FATHEP T H KA 43 22 19 24
FATHEP = T H KA 75 29 41 34
FATHEPI T KA X X X X
JATHEF T H KA 31 14 16 15
KAFEMANTH KA 33 14 15 18
KA —TH KA 26 10 12 14
KA _TH KA 30 17 16 14
KAE=TH KA 114 50 59 55
XKeEF—TH KA 111 60 59 52
KA T H i 119 47 55 64
KAEF=TH KA 91 41 45 46
KAEFMETH KA 438 161 219 219
KAFHEHTH KA 990 351 494 496
JATAT H Ko 5 5 5 0
KeEFLETH KA 141 47 76 65
KAEKR—TH KA 135 59 60 75
KAEKR_TH KA 75 31 37 38
KEAEHR=TH KA 154 72 69 85
KAERMTH KA 590 272 281 309
KAKKETH KA 742 336 367 375
KAHARTH KA 300 116 152 148
KAKELELTH KA 36 16 16 20

10




5ZAl - T RIAD#ET R (BAL: 5 - A
(ERUESASLRRENID | sy A 4 B Lt

oA —T H oA 47 20 20 27
RKAEIN_TH KA 27 13 12 15
KAEIN=TH KA 34 17 19 15
KAE)IMNTH KA 24 15 15 9
L iy e X X X X
PETH H.E 91 23 25 26
PIEE=TH M k= 226 94 109 117
H#—1TH S 19 11 10 9
H_TH H.E 75 30 37 38
HA—=TH S 116 54 66 50
H—T1H H.E 98 46 45 53
HB_TH H.E 108 44 48 60
H=TH H.E 348 142 166 182
U1 H H.E 591 223 288 303
HE—-TH H.E 172 77 86 86
BETTH H.E 11 5 5 6
H-TH H.E 723 277 340 383
HNTH H_E 13 4 6 7
BEHTH H_E 661 292 330 331
HARTH H_E 881 385 436 445
BETH H_E 655 282 325 330
fE—TH L 109 47 55 54
AE=TH H_E 171 77 91 80
fE— 1T H H_E 734 373 387 347
e T H H_E 493 282 250 243
M =T1TH H_E 584 281 278 306
it H_E X X X X
BE—TH H_E 246 117 130 116
BETTH H_E 587 270 279 308
BE=TH H_E 329 161 152 177
HAERTH H_E 8 3 3 5
K+—TH H_E 74 30 36 38
K+—TH H_E 61 24 28 33
Bd—TH H_E 182 79 85 97
B T H H_E 64 28 29 35
B =T H H_E 402 178 200 202
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BEM T B Mk 191 79 105 86
BEERTH Mk 40 14 23 17
BES T H M 848 367 408 440
PE—TH R 166 77 82 84
W—TH R 321 126 146 175
WTH R 32 12 13 19
W=TH R X X X X
VB —TH R 262 114 121 141
VBT H R 48 24 22 26
HhEF—T H R 299 123 139 160
HhEF T H Wk 25 11 12 13
hEF=TH Wk 36 16 17 19
ZHE—TH Wk 159 82 87 72
H—TH Wk 178 75 83 95
BT H Wk 44 18 22 22
#oe— T H Wk 16 7 8 8
#oe T H Wk 149 60 70 79
KEE FHE 165 72 80 85
HIL—TH =il 611 249 292 319
HIL-TH =il 584 206 277 307
HIL=TH 1 676 247 335 341
HILT A 1 669 281 324 345
HILFTH =il 391 157 183 208
HILATH 1 756 259 369 387
HLETH I 757 258 378 379
HILWA\TH i 1,176 360 582 594
WmAE—TH Il 668 209 352 316
WMAE_TH i 653 198 323 330
MRE=TH Il 737 206 373 364
WMAEMNTH Il 387 104 193 194
MREHRTH Il 1,028 285 530 498
MREATH HIl 210 82 112 98
MREtETH #H 720 216 366 354
- _EHAZERT #H X X X X
WA—TH #H 479 208 215 264
M —TH #H 302 124 158 144
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WA= 1 H il 63 30 32 31
T i 47 31 26 21
KiIL—TH T H 2,433 795 1,214 1,219
KIL_TH T H 1,523 689 751 772
KIL=TH T H 1,406 651 705 701
KILMW T B T H 1,719 757 827 892
KILFHT H HH 2,659 1,125 1,318 1,341
KILANTH T H 2,462 925 1,205 1,257
KLt T H T H 1,334 619 665 669
KILNT H T H 500 239 269 231
KT H i 37 32 17 20
—HIUETH WE H 525 155 255 270
W T T X X X X
WHH—TH A M R 1,214 539 575 639
WHE_TH A M R 833 4121 382 451
WHH=TH A M R 1,715 732 836 879
WHHIY T H A M R 241 142 99 142
WHHEFATH WA MR 1,289 620 634 655
W5 T i 106 48 47 59
fieE—T H WA MR 513 255 250 263
T H WA MR 2,305 1,013 1,113 1,192
e =TH WA MR 823 385 383 440
FE—TH WA MR 1,379 585 679 700
R _TH WA MR 1,352 589 640 712
= K5F WA MR 980 552 416 564
ESUal WA ES 718 284 355 363
KILZTH WA ES 273 139 138 135
KIL=TH WA ES 411 210 183 228
sm 1 e 54 19 28 26
G — WA ES 96 35 49 47
A FE'#TH WA ES 330 108 168 162
[N = R R 511 166 254 257
(A i 186 56 02 94
KT T B i 26 17 9 17
—HB|I—TH A B 1,875 971 905 970
—BITH T FH B 1,257 571 606 651
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—HII=TH A P 1,869 876 925 944
—HUTH W B 2,338 1,055 1,129 1,209
—HIUHTH L 1,919 897 927 992
Hig— T H L 139 113 76 63
Hi —TH L 1,115 445 556 559
Him=TH L 2,723 1,073 1,369 1,354
SEARRT W R 331 137 152 179
—HIATH L 594 215 297 297
Himi T H L 611 256 286 325
Himfi T H L 727 317 336 391
K&E—TH Wik 1,998 1,191 982 1,016
HE_TH Wik 1,869 886 917 952
HE=TH Wik 1,287 612 637 650
KEMNTH Wik 1,487 633 747 740
KELTH WL 2,462 881 1,215 1,247
KENTH WA 1,604 611 818 786
KEELTH WA 1,890 772 924 966
= 5glii] WA 2,087 939 998 1,089
KigE—TH WE AL 2,157 951 1,049 1,108
KIFE_TH WE AL 632 367 336 296
KIFE=TH WAL 1,641 749 811 830
T2k 343,817 154,306 165,718 178,099
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